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. IMPORTANT NOTES / Hgayqel féet

Please fill up the OMR Sheet of this Questlon Answer Booklet properly before answering.
Please also see the directions printed on the obverse before filling it.

TeAaX gRA®ET H U8 B0 & A 9 oW da™ L TH.R. maﬁwﬁmmﬁ [
BH WY ¥G SUE Y W W Hia sl &1 oremaT w o |

The question paper has been divided into three Parts - A, B and C. The number of questions
to be attempted and their marks are indicated in each part.

S ¥, 9 o ® AW ol H fwia ¥ ) v 9 A ¥ G 9 aw w9 g
X o1 ofs s@ Wi ¥ oifthd fFd ™ ¥ |

Attempt answers either in Hindi or English, not in both.

IR AR A1 el e A @ Rl ue W dRW, O A A€

Answers to all the questions of each part should be written continuously in the script and
should not be mixed with those of other parts. In the event of candidate writing answers
to a question in a part different to the one to which the question belongs, the question will
not be assessed by the examiner.

TR GRAE ¥ WA AR b e we ¥ wad e 3 i wan o e A qEy "
& Fav T8 e aitey lwwﬁ@%ﬂm%ﬁuaﬁ%wﬁr@aﬁw@uﬁaﬁw
H‘é“rﬁﬂm% |

The candidates should not write the answers beyond the limit of words prescribed in parts
A, B and C failing this the marks can be deducted.

T wY W o, @ o W A ot S it gl Y G @ et sl fore afdn
TUH I B T AF B AT GHI | .
In case the candidate makes any_identification mark i.c. Roll No./Name/Telephone

No./Mobile No. or any other marking either outside or inside the answer book, it
would be treated as resorting to using unfair means. In such a case his candidature

shall be rejected for the entire examination by the Commission,

sl Em e gReenr % atex SMAr AT T R T — Ud TR (M / Aada TR YeH
T i WM A o FE TR gents sifea B W w1 SihE e are SR
ST ZR1 U 9 A R nadt i vt when § stvafien g = S Swe |
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PART - A Marks : 40
ATRT — 3 3E ;40

Note :  Attempt all the twenty questions. Each question carries 2 marks. Answer should
' not exceed 15 words.

A TR 20 UFT F IX AR TS v ¥ RE : o FrifE ¥ s s o
Y o o iRy

1 Differentiate between ‘interim audit’ and ‘internal audit’.

‘oAt sibEe olft ‘omaiw oihaer H ORI W @i |

2 Name any five basic principles governing an audit.

sRau @ PR e am Red ure onumem Rearar @ T feRad

3 Explain propriety audit and statutory audit.
sifrer aibamr ofiv Jufrs oipam & T @i |
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4  Who can appoint a company auditor in case of a casual vacancy cau‘sed by
(a) resignation
(b) other than resignation
omnitrs Rl &1 fr1 aRfefe ¥ @ sl ofben g &¢ wwar 37
(@) W@ A W
(b) T F oefalEm omr Refy A

S Mention any four items which are not suitable for test checking.

el Ul WR W fefed s R ol sl ¥ g TS ¥

6  Who shall appoint or reappoint the auditor of a Government company?

TF T S % sidem @ Pghe @ bRl @ sn?
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7  Name various steps to be taken in cost audit.

Vo eivEm d ood W A R we % T R

8 State atleast three important provisions of Indian Partnership Act, 1932 relating to

partnership accounts if there 1s no partnership deed.

aﬁq@mﬁ-ﬁﬂﬁﬂaﬁ-wwmﬁwam%aﬂwwmm
¥ Tt B G FH OF T TEEEl W gand|

9  What is sacrificing ratio?

T OFUd ¥ P

5 ' [Contd...
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10 Name five categories in which the share capital of a company is divided and shown in
the balance sheet.

o U gl & T TRed R wee @ siogst @ i B s ¥ o R
¥ fam s '

11 What accounting entry a company will pass if the equity shares are issued to promoters
in consideratton of their services?

afe B wadEl B Sl T F Awd § T S Wl Bl ¥ A daiew whife
E2 I T

12 Give formula for calculating cost of goods manufactured.

R a & @ra B o F R g Qi
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13  Rajasthan Limited declares dividend @ 20% on its equity shares of Rs. 10 each, Rs. 8 paid up.
If normal expected rate in the market is 10%, what shall be the value of a share of “yield basis*?

TR RS IO 90 U T ¢ TYET G 19T X 0% B T F T W H § 13k
IR Y G Y% Bl €Y 90% ¥ Al ‘SR e UX T Si9T T T T B 2

14 Explain ‘Buy Back of Shares’ by the company.
T BRSO ST F oW W W @i |

15 Give the formula for calculating matenal yield variance.

gl swfa—en faaw & e g g IR
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16

The cost of production of 2000 units is given below -

C Matenials .o Rs. 40,000
Labour ..., Rs. 10,000
Overheads ................ Rs. 20,000 (60% fixed)

Find out total and per unit marginal cost.

qooomﬁﬁwm:ﬁ%ﬁﬂé%,:

EiLez 1 O %. 40,000
L I U S %. 10,000
AT T oo B 20,000 (60% TR
P qU1 yid g W wrE s e

17 What is cost-plus contract?
e st @ Fr ¥7
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18 (;‘alculate the cost of material consumed:;

Rs.
Opening stock of material ....................cccoovievreenn.e. . 12,000
Material purchased..............ccooovevieiiiee e 60,000
Freight and carriage paid ............ocoooo oo 100
Defective material returned to éupplier (at cost) ............ 1200
Closing __stock of materials ..., 40000
Material sold (cost price Rs. 1500).............. e 2,000
Sy W W @ @ e AR |

5.

IR ). TRBTE ORI oo 12,000

T BT T e eeeeenenssssereseeereseenns 60,000

AET TF TAE GBI TE coereerereerrereeeooeoreeeeeesesesesenens 100

Igfimdl B Sl FEEll A 9 (R IR W) ... 1200
T BT STTT BRI oo 40000
TEEl B R (AT G 1500 B oo, 2,000
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19  What method of cost accounting will be suitable for the following ?

(a) Oil Refinery

(b) Cotton textile Industry

(¢} Hotel
(d} Constructional firm
(e) Vegetable oil mill

() Cement Industry

Prefufes ¥ fd e AT @ B R g SR

(@) A MU HI@HT
() T T
(c) B

(d) Fmbll wd

(e) wafy dw e
® R wEm
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20 What do you understand by budgetary control?
TR e 4 oo wmn wER ¥P
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PART - B Marks : 60

) T —q S 60

Note :  Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed 50 words.

SLCEE _Wequﬁ%wzﬁﬁﬁlmuﬁﬁaqaqzﬁﬁa‘iﬂ‘cr%lwqosn&fr%
s T g )

21 “Vouching is the backbone of auditing’. Explain.
YA SiRET W U W T T AU BIRTL

22  Differentiate between original voucher and collateral or subsidiary voucher,
@ THOE S WOT AT WERE WA § OfdX WS i |
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23 State briefly atleast six important aspects to be considered by an auditor while conducting an audit.

aﬁs&ﬂﬂﬂ%mﬂmu&aﬁa@m%mw:m@q@ﬂm@%ﬂﬁwﬁa&ml

24  ‘An auditor is a watch dog and not a blood hound’. Explain this statement.

‘Sf5NF Th (@AW B G A 5, 7 fF Bl il 3w we @ wmedy
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25  ‘Accounting is a financial information system’. Do you agree with this statement? Discuss.

waEieT UH RRiE gE wemer ¥ T W 3@ HUd ¥ wena § 7 avie e

26  Differentiate between Revaluation account and Realisation zaccount.

T @ 3R IgE @al H o enEEd |
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27 Explain capital redemption reserve account, What type of profit are not available for
transfer to this account?

Fﬁﬁtﬂmwwaﬁmﬁlwaﬁﬁﬁmm%mwﬁgwﬁ@%?

28 A and B share profits in the ratio of 5/8 and 3/8 respectively. C is admiited as partner. He
brings in Rs. 700000 as his capital and Rs. 480000 as goodwill. The new profit sharing ratio
will be 7=5=4,

Pass journal entries.

T ofx & wwst: 5/8@13!8%m§mﬁwm%lﬁaﬁmﬂ€wﬁﬁar
HET T T8 700000 TG GOl T 480000 T ®fy % ®9 ¥ WK ¥ TE -
RS Sgu 7=5=4 W T

Trerrren wRifeat difE)
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29 Differentiate between normal wastage, abnormal wastage and abnormal effectiveness.
TRV 9, SEERY @7 oY EuNl I9d ¥ I gusnEd |

30 The standard, material required to manufacture one unit of product A is 5 kgs. and standard
price per kg. of material is Rs. 3. The cost accountant’s records, however, reveal that
16000 kgs. of material costing Rs. 52000 were used for producing 3000 units of product A.
Calculate material variances.

T S B T S % Frvaror & R wedy oyl A 5 feer ofk wnitra e 3 w9 whe
e 31 Sramua & afierg T ¥ 6 I ‘P &Y 3000 3EEEl @ aH & R
52000 &7 @ 16000 Fret arerly wgae 53 1w Reel & TR Sl
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31 The following information is available :

4 Rs.
Material iSSUEd .............c..oooivreierereecee e 64000
Wages pait..........cooiiiii e 56000
Factory overhead: (60% of wages) '
Material returned to StOres ...........cooevvcrviiciiinniiinieiinicenenn.. 800
Material transferred to other jobs ..............ccccceriiiiiinnnne, 400

10% of the production has been scrapped as bad and a further 20% has been brought
up to the specification by increasing the factory overheads to 80% of wages. The scrapped-
production fetches only Rs. 470,

Find the: production cost per unit of the finished, product if the total product
(including the quantity scrapped) be 100 units.

1 T Uy ¥ ;-

PR A o 64000
T @ - Iﬁl‘{& revererereneenerrenerenennss I6000
HREFT IIT - (naE;& B 60%)

TSR 6 H G0 B TE TR ceceereeeneresne 800
g SUBMEl W Yo W grEl........ .. 400

B?qmmm%{ﬁiaaﬁﬁﬁaﬂﬁmW|w%ﬁaﬁrﬁaﬁ20%waﬁﬁaﬁa
WX Oh M % 6 BREF SUeET W TeEd & 80% I Som Wil g Ry W
AW % fawd T 470 T W 35U

e o & iy 3o SaRe 9 S SN a9k ge SO (g @ TR AE
wfte) 100 swral 2
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32  Shekhawati Limited manufactures a single product and selis it for Rs. 30 per unit. There
is a good demand of the product in the market. The variable cost of the product is
Rs. 16 as detailed below :

Rs.
Direct Material ..........ccoovveireireree et et eer e ee e rae e 8
Direct Labour (2 AIs) ..ocovcveciieinecrcieeeieeeececeeeeceeeen 4
Variable Overhead ...............ccoovvivioeeeeeeeerere e reerenn. 4
16

The labour force is currently working at full capacity and no extra time can be
made available. A customer has approached the company with a request for mamifacturing
products of a special order of Rs. 8000. The cost of the production of this order would
be Rs. 3000 for direct materials and 600 hours of labour will be required and variable
overhead per hour shall be Rs. 2. Should the order be accepted ?

e s 1w wE S T E ok 30 wad wf g W det ¥l oaem S
VAR W A HW F) SWRE W wReieiw @@ 16 v Freeg §

z.
ATUE TN o eeeeeeeereererseeesesennseessresasesasstsssssssassseesesssseesseesans 8
TEA DT {2 HOE) ceeeeeeeeeeeeeeeeeeseseesseesssssessesseressassesessans 4
UTTATINT TH B e eeeeeeeeeees e eesveensesessesessssessssnssssons 4

16

G W F QTR qUiEEAl T S Y W ¢ Al S 9 Suwe et &
Thal ¥ U% URH BT & U UH R & 9 A T 6 8000 v w1 uws fashy
ARy w sue Fiffa e s smyr o w3000 %, el Wil % w9 W 991 600
U g0 % B H BN aiadAsiid Suierg 2 BUd Uiy HUL BN N ORI @f WaR
FHT ARG ?
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PART - C Marks : 100
t qM - 9 3FF : 100

Note : Attempt any 5 questions. Each question carries 20 marks. Answer should not exceed
200 words.

A R ol & w97 AR TS U F U 0 o Fraifam ¥ SR Roo 3= @
offtep & AT =Ry

33 Differentiate between internal check, internal control and internal audit.

e @, i P o qaRe e § oY W Bl
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34 How will you vouch, verify and value the following ?
(a) Issue of Sweat equity shares (b) Preliminary expenses
(¢} Contingent lability (d) Patent -
ey Frefaiaa &1 R v woM, SenTT ofiR i ®oi 7
(2) W< wHa g @ i (b) uURREE =™
(¢) Hwew IR () I CA.CA :
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35 Distinguish between dissolution of partnership and dissolution of firm. Explain the
accounting treatment regardifhg dissolution of partnership firm.

gFETd & frEes qun B % fueet & ot TaEY ) gRRi v % 99 W Y SMem
WEiHT SUUR W1 TN I

" [Contd...
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36

Jodhpur Limited goes into voluntary liquidation on 315t March, 2010, having assets appearing
in the books as follows:

Liquid Assets Rs. 1,00,000, works and other propertles Rs. 9,00,000.

Its liabilities are Rs 2, 00 000 and paid up capital is Rs. 10,00,000. The business is sold to
Marwar Limited for Rs. 5,00,000 payable as to Rs. 4,50,000 in equity shares of Rs. 10 each
credited with Rs, 7,50 per share paid up and Rs. 30000 in cash.

Give journal entries and ledger accounts to close the books of Jodhpur Limited and also give
opening journal entries in the books of Marwar Limited.

SR fafis @ 31 7, 2010 = wies v & ¥ 5 ol o seet gl ® Feafalea
weafgal i

TR Gt 100000 B9, HI@FT 94T 39 qetaat 900000 T |

39% iy 200000 30T & ¥ Ia1 goar I 1000000 39 ¥ | wEw™ URAR f6iRs @
500000 T ¥ 57 Reaw Wi G F 450000 T & 10 w?r T (7.50 BU4 T 897 Yebert
A ) TR STEAAT S0000 W TR BT

gy Tt o afial o a2 B 3 Tl Ao wiiiea ffed @ @ e o A
fafres & afea o arPwmaiafedt ff SR
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37 From the following balance sheets of Ajmer Ltd. and Bikaner Ltd. and additional
information prepare consdlidated balance sheet :

Liabilities Ajmer  Bikaner Assels Ajmer  Bikaner

Limited Limited Limited  Limited

Rs. Rs. Rs. Rs.

Equity shares Building 1,00,000 60,000

of Rs. 10 each 5,00,000 3,00,000 Machinery . 1,50,000 2,000,000

Capital Reserve 40,000 10,000 Stock 1,00,000  1,20,000

General Reserve 80,000 60,000 Debtors 42 500 50,000

Profit and Loss A/c 50,000 30,000 Cash Investment 20,000 20,000
Creditors 80,000 50,000 27000 shares in

Bikaner Lid. 3,37,500
7,50,000 - 4,506,000 7,50,000 4,50,000

On the date of acquisition, Ajmer Limited revalued its building at Rs. 1,20,000 and
machinery at Rs. 1,25,000. Debtors, include Rs. 10,000 due from Bikaner Limited. Stock
of Ajmer Limited, includes Rs. 20,000 purchased from Bikaner Limited, which made 20%
profit on selling price. When Ajmer Limited acquired control in Ajmer Limited, Ajmer
Limited had Rs. 10,000 in capital reserve, Rs. 40,000 in general reserve and Rs. 10,000
in profit and loss account.

s ffrs ol faei fiftis & Preffier il e effoms gemell & g fog
O RN

1 AT CicTor ol T AFAT

fofigs s ez oz

HHdl ST T 1,00,000 60,000

10 $94 9 500,000  3,00,000 T 1,50,000 2,00,000

TSt de 40,000 10,000 it 1,00,000 1,20,000

amH g 80,000 60,000 2WEIX 42500 50,000

@w ety Wm0 50,000 30,000 S 20,000 20,000
e _ 80,000 50,000 fafram far . ®

. 27000 39T 3,37,500
7,50,000  4,50,000 _ 7,50,000 4,50,000

aiftnmy & fafyr o oer RRs X o waw &l 120000 Tual ® qun WeeA W@l
125000 &ua} ¥ gRwaiha fam) e ® 10000 0 AWK [BCE ¥ 9 1 R
fafs % efrar ¥ 20000 w99 w1 Uwr WW oMRME ¥ W 9ER Mt fatRes ¥
w0 Reo an fved Rrsg gea ux 20% @iw v W ot fufies ¥ derr fafes
W P i few oa dee fWies & O @em § 10000 vwd, wmw d@ew
40000 308 o wW-wtt @@ F 10000 TW &)
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38 “Standard Costing is always accompanied by a system of budgeting but budgetary control
may be operated, in a business where standard, costing would be impracticable.”

Explaining this statement, distinguish between the two systems. Are both these inter-
related?

“mmﬁfﬁaﬁawwﬁww&ﬁ%m&wﬁmﬁ%ﬁﬁﬁmﬁaﬂwwﬂﬁw
A 1 W R S wehe & ety Wi fafty e T e orane g ¥
T BT Bl T B 5 I Rl ¥ o wmd  am A 9N sravaratug 2
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(@)

()

P g R e o e R A o R

A bus plies between two points at a distance of 15 kms. It is not on the road
for 5 days a month on an average. It rund 5 upward and 5 downward journey
per day. Its capacity is 50 and on an average 80% is full. The expenses are as
under:

Rs.
Driver’s salary per month ................oooovieooreoeeeooesn 3,000
Salary of conductor and cleaner per month...................... 5,000
Cost of petrol etc. per month.................oooooioiiii 35,000
Insurance, Taxes etc. per anfium ..............ocooovoeooviivieoo 30,000
Repairs, Renewals etc. per annum ... . 40,000
Cost of BUS ..o 8,00,000
Estimated life of the bus............cccoooooveeroooooe S years

Calculate cost per passenger Km.

TE 9 15 feerfer & & wirif & S 9wt ¥ 9% o &Y ¥ W o
5 f7 e X T AN wm w5 9 W 7 5 o @ amn w1 sha
q9ET 50 W ¥ & offed wy ¥ 80% WO wd ¥ = Peifed b o
T
TEAT BT GTT — TR AT oot E e 3,000
HEGEL AT T b1 TGO — TR veovtverrorre s, 5,000
TS 3l B T — R TR oo, eeeeereaea 35,000
g, B A — i 9y 30,000
TR T dM@ — ufy od 40,000
FE B TITTT verrrereerseeeeeeee oot e, 8,00,000
T BT AGAPTT ST v et 5 af

The following information have been extracted from the reporting of variance analysis :

O Total of Material and Labour cost variance......... 50000 (A)
(i)  Material Mix Variance ...............o...cooooooviooo. 5,000 (F)
(i) Material Usage Vatiance...........oooooooeooveo 35,000 (A)
(iv) Labour Rate Variance.......................cc...... 6,000 (A)
(v)  Labour Mix Variance....................cco.oooiii . 3,000 (A)

The material price variance is on account of material A only of which 10,000
units were purchased at a price of Rs. 10.50 each against the standard price of

. Rs. 10 each.

Calculate Material Price Variance and Labour Efficiency Variance on the basis
of above information.

E |
() @Al g s wrE ReRe w9 . 50000 (A)
() T BT RO, 5,000 (F)

(i) arrl SUET RO e 35,000 (A)
(V) T R v 6,000 (A)
V) FF BT R oo e 3,000 (A) :

a7 T Faw @l A ¥ wror ¥ Rme 10,000 gEEE? 10 wu
o g wie g % frada 10.50 v R teE ¥ T W oww @ T o
ST YT & MR 9X TR e Rrexer den s peren Reaor oy ToE @Rwn
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SPACE, FOR ROUGH WORK /T FF F o W
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SPACE FOR ROUGH WORK /,T% &M & faq e
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SPACE FOR ROUGH WORK /T% &M & fau @ e
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